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a=1

x=100

while a<=x:
print(a)
a=a+1
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n=1

while n<=20:
if N%2==0:
print n
n=n+1
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break statement
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continue statement
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conditional

code

If condition
is true

condition

<>

If condition
is false
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a=1
x=100
while a<=x:
print(a)
a=a+l
if a<=50:
break
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var =10
while var > 0:

print (('Current variable value :"),var)

var = var -1

if var == 5:

continue

print ("Good bye!")
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for letter in 'Python':
if letter =="'h":
pass
print (‘This is pass block')
print ('Current Letter :', letter)
print ("Good bye™)
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for itemin [1, 2, 3]:
print(item)
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for char in 'python':
print(char)
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d = {'name": "Jhon’, 'job": 'designer’, 'age’: 40}
for key in d:
print(key)
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numbers =[6, 5, 3, 8,4, 2,5, 4, 11]
sum=0
for val in numbers:
sum = sum+val
print ("The sum is", sum)

n=int(input(*“enter a number:"))
f=1
for i in range(1,n+1):;
f=f*i
print (f)
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digits = [0, 1, 5]
for i in digits:
print(i)

else:
print("No items left.")
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0-70 Fail
71-80 Good
81-90 Very Good
90-100 Excellent
<0, >100 Invalid Grade




grade = int(input("Enter grade: "))
if 0 <=grade <=70:
print("Fail")
elif 71 <= grade <= 80:
print("Good")
elif 81 <= grade <=90:
print("Very good")
elif 91 <= grade <= 100:
print("Excellent")
else:
print("Invalid grade")
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n = int(input("Enter n:"))
p=1

for 1 in range(n, 0, -1):
print(i, end = "\t')
p=p*i
print("\nMultiply is ", p)
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n = int(input("Enter n:"))
max =n % 10
while n > 0:
ifmax<n% 10 :
max =n % 10
n=n//10
print("Max is ", max)

ey 5 29 B oS o)lg 1 AOPFA-Y i alssds sac 00,5 1>l 50,531, Jg5le .Y
Enter n:8564901
Max is 9
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n = int(input("Enter n:"))

1SPrime = True
foriin (2,n// 2+ 1):

ifn%1==0:
isPrime = False
break
if (isPrime == True):
print("Yes")
else:
print(”NO”)
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s = input("Enter a string:")

count =0

foriins:

if'0' <=1<="9"
count = count + 1

print("Count 1s: ", count)
Enter a string: One equal 1 and Seven equal 7.
Countis : 2
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